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  QRRU1ZR 

   I, 2013 

SUMMATIVE ASSESSMENT – I, 2013 

 / SCIENCE   

X / Class – X  

 3      90 

Time allowed : 3 hours     Maximum Marks : 90 

  

The question paper comprises of two Sections, A and B. You are to attempt both the sections. 

All questions are compulsory. 
 

All questions of Section-A and all questions of Section-B are to be attempted separately. 
 

1 3 

Question numbers 1 to 3 in Section-A are one mark questions.  These are to be answered in 
one word or in one sentence. 
 

4 7 30-30 

Question numbers 4 to 7 in Sections-A are two marks questions.  These are to be answered in 
about 30 words each. 
 

8  19 50-50   

Question numbers 8 to 19 in Section-A are three marks questions.  These are to be answered 
in about 50 words each. 
 

20 24 70-70 

Question numbers 20 to 24 in Section-A are five marks questions.  These are to be answered 
in about 70 words each. 
 

25 42 

Question numbers 25 to 42 in Section-B are multiple choice questions based on practical 
skills.  Each question is a one mark question.  You are to select one most appropriate response 
out of the four provided to you.
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   SECTION-A 

 

 

 1 

State the effect of a magnetic field on the path of a moving charged particle.  
 

1 

 2   

Which system facilitates the communication between central nervous system and other parts 

of the body ? 

 

1 

 3  

Write the characteristic features of the micro organisms which help in the production of 
biogas in a biogas plant. 
 

1 

 4 

 

On diluting an acid, it is advised to add acid to water and not water to acid.  Explain why it is so 

advised ? 

 

2 

 5  

Name first discovered alloy.  Give its composition also. 

 

2 

 6 10, 15  5   

Three resistors of 10, 15 and 5 are connected in parallel.  Find their equivalent resistant.  
 

2 

 7 (i) 

(ii)  

State how the magnetic field produced by a straight current carrying conductor at a point 

depends on (a) current through the conductor  

(b) distance of point from conductor. 

 

2 

 8  

(a) 

3 
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(b)  डालने तैरने

(a) Aluminium is a reactive metal but is still used for packing food articles. 

(b) calcium starts floating when water is added to it. 

 

 9  

(a)  + →  

(b)  + →  +  

(c)  + →  +  

Write balanced chemical equations for the following chemical reactions 
(a) Hydrogen + Chlorine → Hydrogen Chloride 
(b) Lead + Copper Chloride →Lead Chloride + Copper 
(c) Zinc Oxide + Carbon → Zinc + Carbon Monoxide 
 

3 

 10  P 

 pH 5.5  

(a)  P  

(b) 

 

A Compound P forms the enamel of teeth.  It is the hardest substance of the body.  It doesn’t 
dissolve in water but gets corroded when the pH is lowered below 5.5 
(a) Identify the compound P 
(b) How does it undergo damage due to eating chocolate and sweets ? What should 
we do to prevent tooth decay ? 
 

3 

 11 (i) ‘X’

‘X’

(ii) ?

(i) Carbonate of metal ‘X’ is abundant in earth crust and its hydroxide is used in ‘white 

 washing’.  Identify metal ‘X’.  

(ii) How will you convert this carbonate into its oxide?  Name the process and write its 

equation. 

 

3 

 12 3 
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Define alternating current and direct current. Explain why alternating current is preferred 

over direct current for transmission over long distances. 

 

 13  100 W, 200 V  60 W, 220 V 220 V 

 

Two lamps, one is rated 100 W at 200 V and the other 60 W at 220 V, are connected in parallel 

to a 220 V supply.  Find the current drawn from the supply line. 

 

3 

 14 (a)   

(b) 

(i)  

 (ii) 2 KW  

(a) Fuse acts like a watchman in an electric circuit. Justify this statement.  

(b) Mention the usual current rating of the fuse wire in the line to  

(a) lights and fans  (b) appliance of 2kw or more power 

 

3 

 15 

List in tabular form three differences between arteries and veins.   
 

3 

 16  

How do auxins help in bending of stem towards light? Explain.  
 

3 

 17  What are nephrons 

?  How is nephron involved in the filtration of blood and formation of urine ? 

 

 

3 

 18  

Explain the principle and process of converting ocean thermal energy into electricity 

 

3 

 19 

 
(a)  

3 
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(b)  
Ramu has a piece of agricultural land in a village. He decides to set up a brick factory on it. 
His friend Shyam persuades him to change his decision in the interest of village because 
presence of a factory would severely affect the health of villagers as well as agricultural 
produce of others. Ramu understands and abandons his plans. 
(a) Mention the values exhibited by shyam. 
(b) Explain how these values helped shyam to save interests of his village 

 

 20 (i) 

(ii)

(iii)

(i) Write down the electronic configuration of Magnesium and Oxygen. 

(ii)  Give two general properties of the compound formed by combination of magnesium 
and oxygen. 

(iii)  Show the formation of this compound by the transfer of electrons. 

 

5 

 21 (a) 

  

(b)   

(a) Name and describe giving chemical equation the process used for producing sodium 

hydroxide.  Why is this process so named ?   

(b) Give one use of each of any two products obtained in this process.  

 

5 

 22 (a) 5 A

10 A 

(b) 

 

(a) A fuse wire melts at 5A .  If it is desired that the fuse wire of same  material melt at 10 
A, then whether the new fuse wire should be of  smaller or larger radius than the earlier 
one ?  Give reasons for your  answer. 
(b) If the radius of a current carrying conductor is halved, how does  current through it 

5 
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change ?  
 

 23 

50 m 0.01 mm2 

5  108m  

Define resistance of a conductor.  State the factors on which resistance of a conductor 
depends.  Name the device which is often used to change the resistance without changing the 
voltage source in an electric circuit. 
Calculate the resistance of 50 m length of wire of cross sectional area  
0.01 square mm and of resistivity 5  108 m. 
 

5 

 24 (i) 

 

(ii) 

 (a)  (b)  

(i) Describe the process of starch digestion.  Specifying site, glands and enzymes used 
and end products produced. 

(ii) Draw the structure of human digestive system and label  
 (a) pancreas  (b)  small intestine. 
 

5 

   / SECTION - B 

 

 

 25 

HCl NaOH pH 7 

 

(a)    (b)  

(c) HCl  (d) NaOH  

A student was given four samples of water in four different test tube.  These were of distilled 
water, lemon water, water having dil. HCl in it, water having NaOH in it.  For which sample 
pH value will be 7 : 
(a) lemon water   (b) distilled water 
(c) water with HCl in it  (d) water with NaOH in it 
 

1 

 26 pH 7  

(a)    (b)  

(c)     (d)  

1 
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A given sample indicates a pH of 7. The sample could be : 
(a) distilled water   (b) antacid 
(c) blood    (d) curd 

 

 27  

(a)   (b)   

(c)   (d)   

The chemical reaction  between barium chloride and sodium sulphate is an example of : 
(a) combination reaction   (b) decomposition reaction   
(c) displacement reaction  (d) double displacement reaction  
 

1 

 28 

(a) (b) 30 

(c) 20 (d) 15 

On adding an aqueous solution of barium chloride to an aqueous solution of sodium sulphate 

a white precipitate is formed:- 

(a) Instantly   (b) After 30 seconds 

(c) After 20 seconds  (d) After 15 seconds 

 

1 

 29  : 

(a)  

(b)  

(c)  

(d)  

A white powder is formed with a hissing sound with evolution of heat when : 

(a) lime water is heated 

(b) lime water reacts with quick lime 

(c) water reacts with lime water 

(d) water reacts with quick lime 

 

1 

 30  

(i)  

(ii)  

1 
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(a)  

(b)   

(c)  

(d)  

On carrying out a displacement reaction, the following observations were made by Nandita. 
(i) Formation of Reddish – brown deposit 
(ii) Solution turned green. 
The reactants she used were : 
(a) Copper and zinc sulphate solution 
(b) zinc and copper sulphate solution  
(c) copper and ferrous sulphate solution 
(d) Iron and copper sulphate solution 

 

 31 

 

(a)  

(b)  

(c)  

(d)  

Disha took two iron nails and put them in aluminium sulphate solution. After sometimes she 

observed that : 

(a) the solution becomes warm 

(b) grey-metal is deposited on the iron nail 

(c) the colourless solution changes to light green 

(d) solution remains colourless and no deposition is observed on the iron nail. 

 

1 

 32  

 
(a) 1.5v 

1 
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(b) 3.0 v 
(c) 4.5 v 
(d) 5.0 v 
The voltmeter reading in the given circuit is : 

 
(a) 1.5v 
(b) 3.0 v 
(c) 4.5 v 
(d) 5.0 v 
 

 33 

(a) (b) (c) (d) 

The voltmeter is always connected in the circuit in: 

(a) Series (b) Parallel (c) Mixed  (d) None of these 

 

1 

 34 (I)  (V) 

I, II  III  I - V  

 
/ /  

(a)  I   (b)  II  

(c)  III  (d) 

In the experiment on studying the dependence of current (I) on potential difference (V), three 
students I, II and III took observations and plotted the following graphs between I - V  

 

1 
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The correct graph is of :  
(a) student I only   (b) student II only 
(c) student III only  (d) All three students  
 

 35 R1  R2  

 
 

(a) I V  

(b) I V   

(c) I V   

(d) I  V  

To determine the equivalent resistance of a series combination of two resistors R1 and R2 a 
student arranges the following  set up : 

 
Which of the following statement will be true for this circuits? 
(a) Incorrect reading for current I as well as potential difference V  
(b) Correct reading for I but incorrect reading  for V  
(c) Incorrect reading for I but correct reading for V  
(d) Correct reading for both I and V  
 

1 

 36 

 

(a)  

(b)  

(c)  

(d)  

To perform the experiment of finding equivalent resistance of a parallel combination of 

1 
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resistance, a student should join volvemeter and ammeter with the combination as : 

(a) both in series with it 

(b) both in parallel with it 

(c) ammeter in parallel and voltmeter in series with it 

(d) ammeter in series and voltmeter in parallel with it. 

 

 37 

(a) (b) (c) (d) 

Guard cells in the given figure are: 

 

(a) Flaccid  (b) Turgid  (c) Plasmolysed (d) Shrunken 

 

1 

 38 

(a)  

(b)  

(c)  

(d) 

On observing stomata on epidermal peel of a leaf, some stomata were found open and some 
were closed. The guard cells will be:- 
(a) flattened in open stomata but bulged in closed stomata 
(b) bulged in open stomata and flattened in closed stomata 

1 
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(c) flattened in both open and closed stomata 
(d) bulged in both open and closed stomata 
 

 39 ?

(a) (b) 

(c) (d) (a) (b)

Other than light, what else is necessary for photosynthesis ? 

(a) Carbon dioxide   (b) Water   

(c) Oxygen    (d) Both (a) and (b) 

 

 

1 

 40 

 

(a)  A   (b) B  

(c)  B  C  (d) A, B  C   

  
Above observations were made after testing the leaf for the presence of starch.  The inference 
that can be drawn from it is that the photosynthesis has occurred in :  

1 
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(a) portion A only (b) portion B only   
(c) portions B and C (d) all the portions A, B and C  
 

 41 CO2 

 

(a)    

(b)  

(c)     

(d)  

In the experimental set up to show that CO2 is released during respiration, if the flask is air 

tight the germinating seeds get oxygen supply from : 

(a) water in the beaker   

(b) air in the flask 

(c) water in the germinating seeds    

(d) water used for soaking of seeds 

 

1 

 42 CO2 2 

 

(a) KOH  

(b)  

(c)  

(d)  

A student sets up the apparatus- To show that CO2 is released during respiration  After 2 
hours he observes :      
(a)  KOH turns milky.        
(b)  Water level rising in the bent tube in the beaker.    
(c)  Water level decreasing in the bent tube in the beaker.   
(d)  Water turns turbid in the beaker. 
 
 

1 

    

  *****  
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       SUMMATIVE ASSESSMENT – I, 2014          TDSK2I8 

SCIENCE Sample paper -1 Answer    Class – X 

1. It can deflect the path of the charged particle  

2 .Peripheral Nervous System (cranial nerves ) and spinal nervous  

3.They do not require oxygen to decompose or break down complex compounds of slurry.  

4.Dilution of an acid is an exothermic process.  On adding acid to water, heat evolved will get absorbed by water, 

present in large quantity. 

5. Bronze, [Copper (9%) and Tin(1%)] 

6. 30/11 

7 (a) It is directly proportional to the current  (b) It is inversely proportional to the distance  

8. (i) on reacting with air or oxygen Al is converted into its oxide called Al2O3. 

(ii) this sets deposited at the surface of the metal as a thin coating 

(iii) It is rather passing and it present oxidation of fats 

(b) Ca + 2H2O ------> Ca(OH)2+H2 The bubbles of hydrogen stick to the surface of metal and it floats.  

9.(a) H2(g) +  Cl2(g) → 2HCl(g)         b)Pb(s) +CuCl2(aq) → PbCl2(aq) +Cu(s)             (c)  ZnO + C → Zn +CO 

10.(a) Calcium Phosphate Ca3(PO4)2 

(b) Bacteria present in the mouth produce acids by degradation of sugar  and food particles. Cleaning the mouth using 

a toothpaste, which is basic in nature, can prevent tooth decay.  

11 (i) Ca  (ii) CaCO3---->  CaO + CO2      (ii)  Process,  Calcination 

12.D.C – The current that always flows in one direction  A.C – The current that reverses its direction periodically  

The Advantage of AC over DC is that electric power can be transmitted over long distances without much loss of 

energy. 

13.use, R1 = V
2
/p1  = 220x220/100 = 484 , R2 = V

2
/p2  = 220x220/60 = 4840/6   

R  = (R1 x R2)/ (R1 + R2) = 0.727A 

14 Fuse is made up of a wire of low melting point. If current suddenly increase in a circuit due to short circuit or 

overloading, it melts and prevents damage. 

(a) The voltage supply line, which feeds lights and fan, is called electric line. It uses a fuse 5A current rating. 

(b)The voltage supply line, which feeds appliances of 2 kilo-watt or more power, is called power line. It uses a fuse of 

15 ampere current rating.  

15. Arteries                    Veins 

(i)Thick walled         Thin walled 

(ii)Carry blood away from heart. Carry blood towards heart. 

(iii) Valves absent Valves present. 

16. When growing plants detect light a hormone called Auxin, synthesized at theshoot tip helps the cells to grow 

longer.  When light is coming from one side oftheplant, Auxin  diffuses towards the shady side of the shoot. This 

concentration of Auxin stimulates the cells to grow longer on the side of the shoot which is away from light.  Thus plant 

appears to bend towards light. 

17.Do your self 

18 •Water at the surface of ocean is heated while in deeper sections of the ocean is relatively cold 

• A temperature difference of 20
0
C(or more), between the surface water of ocean and deeper water is needed for 

operating  power plants. 

• The warm surface water is used to boil a volatile liquid like ammonia 

• Vapours are sent to run the turbine  
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• The cold water from the depth is pumped up and condense vapour again to liquid    

19 (a) Shyam is concerned about the health of villagers as well as about ill-effects of industrial pollution on soil, water 

and air, secondly, he shares his concerns with others and tries to convince them not to make such decision which will 

ultimately harm them. 

(b)He explained to Ramu that if a brick factory is set up near the agricultural land, the smoke arising out of the burning 

of fossil fuel would harm the health of villagers. The acidic oxides in smoke would cause acid rains which would cause 

water and soil pollution affecting the agricultural produce.     

20. (i) Mg   2,8,2   O 2,8,6 (ii) MgO, having high M.P., solid, ionic bonding etc.  (iii)     

21. Chlor. Alkali process. 

Electricity is passed through aqueous sodium chloride solution chlorine is given at anode hydrogen at cathode and 

sodium hydroxide solution is produced near the cathode. 

2 NaCl (aq)+ 2H2O → 2NaOH (aq) + Cl2 + H2 

It is called because chlorine and alkali are produced  

H2 - NH3 as fertilizers, fuels Cl2 - CFCs, pesticides   NaOH - degreasing, soaps (for any two) 

22.(a) According to Ohm’s law : I  
𝑉

𝑅
  

SUMMATIVE ASSESSMENT – I, 2014          TDSK2I8 

SCIENCE Sample paper -2 Answer    Class – X 

 

Therefore, in case of 10A current, fuse wire will be  of greater radius. 

(b) Again  I  r
2 
        I  (r/2)

2 
 I  r

2 
/4    

When radius is halved, the current value becomes ¼  thof the original value. 

23. Resistance : Property of a conductor to resist the flow of charges through  it.  

Factors : length of conductor, area of cross section of conductor; nature of material of conductor  

device – rheostat / variable resistor.  

R = 250 

24. (i) site – buccal cavity  

    gland – salivary glands 

    enzyme – salivary amylase  

   end product – sugar/glucose   
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